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Most Expected 250 Questions (Super Series)

Q1.A shopkeeper sells his goods by allowing 18% discount and still earns 30% profit. If he sells his
goods by allowing 12% discount on the marked price, then what will be his profit percentage
(correct to 2 decimal places)?

Ueh GehIET 10 T shT 18% T Seht sierdT & A T ¥t 30% 1w Afsid htaT 2. Il IE Jifehd 7o
T 12% 3T P oL ST HIA srrdll &, AT SEehT AT =T (2 IXHAS €A o Fat) FIT IR

A 39.51% B.42.62 % C.40.35% D.35.45%




Mbst Exqected 250 Questions (Super Series)

Q2.R’s weighing machine shows 400 gm when the actual weight 1s 350 gm. The cost price of
almonds 1s T80 per kg and packets of 200 gm are made using the faulty machine. What should be

the selling price (in ) of each packet to get a profit of 25%?
STEToh a5 350 TTH B T R A a1 #2400 T feaTelt 21 e o1 579 oo 2880 Wi foheiime &

3T Frout TR T STATT ok 200 TTH o Fohe ST ST 8. 25% T AT UTH T o [T Sedeh Tohe T
[Ishe Hod (F99 H) AT AT AMET?
A192.50. B 197.50 C 189.50 D 190.50




Most Expected 250 Questions (Super Series)

Q3.A can complete a work 1n 60 days. B is 25% more efficient than A. They work together for 15 days.
C alone completes the remaining work in 14 days. B and C together will complete 5 /8 th part of the
original work 1n:

. A T R 3T 60 ToT 5 I T T 81 B, A T 25% AT FH=1 2l I 15 Tt o foIe wer |1 o6 6L o
C 3Fehcd I T T 14 T H 90 LT 81 B 3R C TeTeht 7e7 hd o 5/8 T i Toh €HT W T hid1?

(a) 18 days (b) 16 days (¢) 12 days (d) 15 days




Most Expected 250 Questions (Super Series)

| Q4.A drink of chocolate and milk contains 8% pure chocolate by volume. If 10 litres of pure milk are
added to 50 litres of this drink, the percentage of chocolate in the new drink is:
Tehcie 31T Y o Teh U H HEAT o STTER 8% [ Hiohete BIdT 81 Fle 36 UF % 50 T H 10 w1t 3[4 34
THTTT ST 2, A7 91T U | <iiehel hl JTdSTd T 27
(a) 6(2/3) (b) 6 (1/3) (c) 5(2/3) (d) 5 (1/3)




Most Expected 250 Questions (Super Series)

Q5.Some fruits are bought at 15 for "140 and an equal number of fruits at 10 for "120. If all the fruits are

sold at "132 per dozen, then what 1s the profit percent in the entire transaction?

D el ol '140 % feTT 15 9T 3T 1120 o TIT 10 T @A HE&AT H el TS ST 8 Afe A ®ed 132 799 el
3 ol S H o< ST &, 1 G e § o1 SeTd 1 22
(@) 3 (1/8) (b)4 (1/2)(c) 3 (d)2(1/4)




Most Bpected 250 Guestions (Super Series) ©

Q6.A trader bought 640 kg of rice. He sold a part of rice at 20% profit and the rest at 5% less. He earned

profit of 15% 1n the entire transacting. What is the quantity (in kg) of rice that he sold at 5% loss?
Teh TR A 640 foheTt =maret TIET. I8 AT T Teh | 20% TTH T 3T AT 5% FHH 9 = I8 T e

T 15% o1 ATH SATSTd ST g1 Teet shi Tehat A (forat o) & TS18r S8 5% 1 9T s o2
() 128 (b) 132 (c) 154 (d) 256




Most Expected 250 Questions (Super Series)

Q7.If 8(x +y)? —27(x—y)* = (S5y—X) (Ax* + By? + Cxy), then what is the value of (A + B — C)?
(a) 16 (b) 26 (¢) 36 (d) —16



Most Expected 250 Questions (Super Series)

Q8Ifx+y=4and (1/X)+ (1/y )=16 15, then what 1s the value of (x> + y?)?
(a) 18 (b) 19 (c) 21 (d) 16



Most Expected 250 Questions (Super Series)

Q9. A group of men decided to do a job in 11 days but 16 men left the work after each day

T 9. I%NI oh Ueh GHE = U sh1H ohl 11 TaAT H shid 3T el TohT Siferd 16 To o Sedieh fad o are
T DI fear

1.480 2. 420 3. 450 4. 400




Most Expected 250 Questions (Super Series)

Q10.There are two circles that touch each other externally. Radius of the first circle with centre O 1s 12
cm. Radius of the second circle with centre A 1s 8 cm. Find the length of their common tangent BC.

<1 S & SiY Uoh g shi SITedl &9 H B &) 3hg O 9Ted Teed dxl ohl 53T 12 WAl 21 hg A SiTed GHL 3 shi s 8
gl 3| 3ok VIS TR BC sl deTg J1d shitTy|

A.8V3 B.6V3 C.8V6 D.none




Mbst Exqected 250 Questions (Super Series)

| Q11.A thief steals an item and escapes, running at 20 km/h. A policeman arrives at the spot of the crime
after 6 minutes and immediately starts chasing the thief. 24 minutes after the policeman started to chase
the thief, there 1s still a gap of 400 m between the two. At what distance from the spot of crime would the
policeman catch up with the thief, and what is the speed at which the policeman ran?

Ueh <A Teh SR <TI0 @ ST 20 ToRw1/HeT <Al 1T | ed BT | ST & Teh YfoTershHi 6 THee o siTe 3auy
T YL Ugdl & FR L = skl HeT AT & L el 8] TroreehH] ST = shi HieT il & i o 24 fime
STe ¥t ZIT o sft<r 400 HICT =T BT 2| ST Tl W fehaiT gl 0t qfcterehsf =T ol Tehg T, ST Jfcrerehr

forg TTTdT T Siemm?
1. 15 km; 25 km/h 2. 14.4 km; 24 km/h 3. 12 km; 24 km/h 4. 10 km; 25 km/h




Most Expected 250 Questions (Super Series)

QI12.A boat goes 20 km upstream and 44 km downstream 1n 8 hours. In 5 hours, 1t goes 15 km

upstream and 22 km downstream. Determine the speed of the boat in still water

Qeh TS 8 & H €T o Hfciehed 20 ToRHl 31T T o F{ehet 44 Tordl STt 8. 5 B¢ H, I8 9/ % idshed 15
ferel ST e o 31t 22 Tehwt STt €. e art  =A1ef <Al 71fd JTer <hifsr
1.8 km/h 2.6 km/h 3. 10 km/h 4. 7 km/h




Mbst Exqected 250 Questions (Super Series)

Q13.Ravi initially used to save 20% of his monthly income. Recently his monthly income was
raised by 25%. His nominal savings also went up by 5%. What percentage of his present nominal
income does Ravi currently save?

. Tl & H ST /Tieeh ST ST 20% ST 91| BTeT S H Seh! HTT6eh 3T H 25% hi g 8% offl STeht
TTHET ht sad ot 5% &¢ TE| U IqHH § 3TYHT TAqT THAT TR T foha =T JeTd s=al @
A.16.B 18.C 16.8 Dnone




Mbst Expected 250 Questions (Super Series)

Q14.A vessel is filled with liquid, 5 parts of which are water and 11 parts syrup. What part
of the mixture must be drawn off and replaced with water so that the mixture may be syrup

and water in the ratio 3 : 27
Ueh ST el § W0 §3AT &, FSTeeht 5 AT ot 3T 11 9T e 2. vt skt foheam At fepret ST

TR AR AT § e iua foram ST <iee dTfeh fErsior 3: 2 o STHTa H RRd TR I &1 Heh?
A 27/35 B 36/65 C7/55 D none




Most Expected 250 Questions (Super Series)

Q15.S deposits a total of 50,000 1n two accounts which give 8% and 12% simple interest annually,

respectively. After one year, he gets a total £5,200. How much money does he deposit in the account

with a 12% interest rate?
. S T @Al § el £50,000 STHT HLAT @ ST SHAIT: 8% R 12% JATftieh HIHRUT 4TS & 8| Toh 9y o 1S, 34

e 5,200 AT 1 T 12% SATST &L o T1e QT H TR 98T STHT 3L &7
1.%20,000 2.%32,000 3.%25,000 4.%30,000




Q16.A group of college students had decided to complete a project in 10 days. As 2 students

dropped out every day, the project got completed at the end of the 15th day. The number of

students at the beginning of the project was:
HTcISt o BT o U §HE = 10 T H Toh TS ! G0 i 3 Ho fora o, St for gt fam 2 st 4

UQTS BI al, TS 15 o fa o 3ic H I &1 T5| TATSHT 36T J[e3ATd H B shl ST T of1?
1.452.423.354.40




